












A certain number of persons are sitting in the row. All of them are facing towards 

north. I sits seventh from the left of V. C sits to the left of A. Only three persons 

sit between G and A. L sits fourth to the right of K. I sits one of the place between 

E and K. A sits fourth to the left of I. K is seventh from the right end of the row. 

Nine persons sit between G and K. There are nine places between C and E. A is 

eight from the left end. G and I is not neighbor. 

एक निनित संख्या में व्यनि पंनि में बैठे हैं। ये सभी उत्तर की ओर म ंह नकए हुए हैं। I, V के बाए ंसे

सातवें स्थाि पर बैठा ह ं। C,A के बाई ंओर है। केवल तीि व्यनि G और Aके बीच में बैठे हैं। L, K 

के दाई ंओर चौथा बैठता है। I, E और K के बीच में कहीं एक स्थाि पर एक बैठता है। A,I के बाई ं

ओर चौथे है। पंनि के दाए ंछोर से K सातवााँ है। िौ व्यनि G और K के बीच में बैठते हैं। िौ व्यनि

C और E के बीच में बैठते हैं । पंनि के बाए ंछोर से A आठवााँ है। Gऔर I पडोसी िहीं हैं।



A certain number of persons are sitting in the row. All of them are facing towards 

north. I sits seventh from the left of V. C sits to the left of A. Only three persons sit 

between G and A. L sits fourth to the right of K. I sits one of the place between E 

and K. A sits fourth to the left of I. K is seventh from the right end of the row. Nine 

persons sit between G and K. There are nine places between C and E. A is eight 

from the left end. G and I is not neighbor.



Q.1.How many people can sit in a row?

एक पंनि में नकतिे लोग बैठ सकते हैं?

(1) 14 (2) 18 (3) 23 (4) 15 (5) 20

Q.2.If E sits immediate right of A then how many persons sit 

between E and L? 

यनद E, A के ठीक दायें बैठा है तो E और L के बीच नकतिे व्यनि बैठते हैं?

(1) Five       (2) Six (3) Four (4) Eight (5) None of these



Type of Coding – Decoding:-

(1) Normal coding

(2) Substitution coding

(3) Binary coding

(4) Mathematical coding

(5) Conditional coding

(6) Advance coding



E     J     O      T       Y

5    10    15    20     25

G     N     U      

7     14     21         

C   F   I    L     O    R    U    X

3    6   9  12   15   18   21  24



Opposite Alphabets:-

A-Z A to Z
B-Y Boy
C-X Crax
D-W Dew
E-V Love
F-U Uff

G- T G.T. Road
H- S High School
I-R Indian Railway
J -Q Jaipur Queen
K-P Kanpur
L-O Love
M-N Man



In a certain code VINIT is coded as 49490, HARSHIT is coded as 8189890.

How is SOYA coded in that code ?

एक निनित कोड में VINIT को 49490, HARSHIT को 8189890 के रूप में कोनडत नकया

जाता ह।ै उस कोड में SOYA को कैसे कोनडत नकया जाता ह?ै

(A)95101

(B)95011

(C) 95110

(D)90511



In a certain code a number BRAVE is written as 20. COMMAN is written as

30, How is KISHORE written in that code ?

एक निनित कोड में एक संख्या BRAVE को 20 के रूप में निखा जाता ह।ै COMMAN को

30 के रूप में निखा जाता ह,ै उस कोड में KISHORE को कैसे निखा जाता ह?ै

(A) 85

(B) 42

(C) 75

(D) 40



In a certain code a number AMAN is written as 1415 and BUNTY is written

as 23527. How is KAMAL written in that code ?

एक निनित कोड में एक संख्या AMAN को 1415 और BUNTY को 23527 के रूप में

निखा जाता ह।ै उस कोड में KAMAL को कैसे निखा जाता ह?ै

(A) 21315

(B) 21413

(C) 12132

(D) 21314



In a certain code WATSON is written as 112843 . JOHN is written as 1483, 

How is PONTING written in that code 

एक निनित कूट भाषा में WATSON को 112843 निखा जाता ह।ै JOHN को 1483 के रूप 

में निखा जाता ह,ै उस कोड में PONTING को कैसे निखा जाता ह?ै

(A) 4432937

(B) 5432936 

(C) 5342937 

(D) 5432937



In a certain code CARD is written as 20 . TEA is written as 12, How 

is PARENTS written in that code ?

एक निनित कोड में CARD को 20 के रूप में निखा जाता ह।ै TEA को 12 के रूप में 

निखा जाता ह,ै उस कोड में PARENTS को कैसे निखा जाता ह?ै

(A) 32

(B) 56 

(C) 76 

(D) 121



In a certain code WIN is written as 18. SIP is written as 12, How is 

TOY written in that code ?

एक निनित कोड में WIN को 18 निखा जाता ह।ै SIP को 12 के रूप में निखा जाता 

ह,ै उस कोड में TOY को कैसे निखा जाता ह?ै

(A) 5

(B) 10 

(C) 15

(D) 20



“focus on economic development” is written as “vl no py su”

“greater growth more development” is written as “wr ea vl om”

“more focus is important” is written as “su ta nx ea”

“economic growth is important” is written as “ta py om nx”

What is the code for 'economic‘ ? / 'economic‘ के निए कूट क्या है

1.Py

2.nx

3.ta

4.su 

5.no



“focus on economic development” is written as “vl no py su”

“greater growth more development” is written as “wr ea vl om”

“more focus is important” is written as “su ta nx ea”

“economic growth is important” is written as “ta py om nx”

'su' is the code for which of the following? / 'su' निम्िनिनखत में से नकसके निए कूट ह?ै

1.Development

2.focus

3.on

4.important

5.More



“focus on economic development” is written as “vl no py su”

“greater growth more development” is written as “wr ea vl om”

“more focus is important” is written as “su ta nx ea”

“economic growth is important” is written as “ta py om nx”

What is the code for "growth is important"? / "growth is important“ के निए कूट क्या ह?ै

1.om ta nx

2.wr ta nx

3.ea nx py

4.om ta py

5.Cannot be determined



“focus on economic development” is written as “vl no py su”

“greater growth more development” is written as “wr ea vl om”

“more focus is important” is written as “su ta nx ea”

“economic growth is important” is written as “ta py om nx”

What is the code for 'important'? / 'important‘ के निए कूट क्या ह?ै

1.Py

2.nx

3.om

4.ta

5.Cannot be determined



“focus on economic development” is written as “vl no py su”

“greater growth more development” is written as “wr ea vl om”

“more focus is important” is written as “su ta nx ea”

“economic growth is important” is written as “ta py om nx”

What is the code for 'greater'? / 'greater' के निए कूट क्या ह?ै

1.Ea

2.vl

3.om

4.no

5. wr



Binary coding :-
In a certain code, the symbol for 0 is © and for 1 is @. There are no other symbols for all other numbers greater than 1. 

The numbers greater than 1 are to be written only by using the two symbols given above. The value of the symbol for 1 

doubles itself every time it shifts one place to the left. Study the following examples –

एक निनित कोड में, 0 के निए प्रतीक © ह ैऔर 1 के निए @ ह।ै अन्य सभी के निए कोई अन्य प्रतीक िहीं हैं । 1 से बडी संख्याए ँकेवि ऊपर 

निए गए िो प्रतीक का प्रयोग करके ही निखी जाती हैं । प्रतीक का vlaue हर बार एक स्थाि को पर स्थािातंररत करिे पर अपिे आप िोगिुा हो 

जाता ह ै। निम्िनिनखत उिाहरणों का अध्ययि करें

0 is written as ©

1 is written as @

2 is written as @©

3 is written as @@

4 is written as @©© and so on................ 

Q. What is the code for 10? / 10 का कोड क्या ह?ै

(1)@@@@

(2)©©©©

(3)@©@©

(4)@@©©

(5)None of these



Q.1. If @@@© would be subtracted in @@@@@ then what will be the total of the digits of that

resultant ?

यनि @@@© को @@@@@ में घटाया जाए तो उसके अकंों का पररणामी योग क्या होगा?

(1) 17

(2) 12 

(3) 8

(4) 18

(5) None of these

Q.2. Which of the following number is written in the form @©@©@ of that code ?

निम्िनिनखत में से कौि सी संख्या उस कोड के @©@©@ के रूप में निखी गई ह?ै

(1) 12

(2) 21

(3) 24

(4)   36 

(5)   None of these 



Mathematical coding :-
There are 6 symbols $ ,@ ,©, & ,∆ , # coded for different number 2 ,3 ,4 ,5, 6, 7 , but not necessary in the same order. One 

symbol represent for one number.

अिग-अिग संख्या 2,3,4,5,6,7 के निए 6 प्रतीक $ ,@ ,©, & ,∆ , # कोनडत हैं, िेनकि आवश्यक िहीं इसी क्रम में हों। एक प्रतीक एक 

संख्या का प्रनतनिनित्व करता ह।ै

© +   # =   ∆

$   - ∆ =  ©

#   *   © =   @

@   ÷ © =  # 

Find the code of symbols from above equation to arrange the numbers in logical order and answer the following questions:-

संख्याओ ंको तानकि क क्रम में व्यवनस्थत करिे के निए उपरोक्त समीकरण से प्रतीकों का कोड खोजें और निम्िनिनखत प्र्ों के उ्तरर िें: -



Q.1  If @ * &, than What is the right answer?

यनि @*& से, तो सही उ्तरर क्या ह?ै

(1)18 (2)24 (3)36 (4)55 (5)66

Q.2 If ©©-©, than What is the right answer?

यनि ©©-© से , तो सही उ्तरर क्या ह?ै

(1)20 (2)42 (3)36 (4)25 (5)22

Q.3  If 2*∆+&-@ , than What is the right answer?

यनि 2*∆+&-@ , तो सही उ्तरर क्या ह?ै

(1)12 (2)8 (3)11 (4)23 (5)17



Q.Directions : In each question below is given a group of digits followed by four 

combinations of digits/symbols given in (1), (2), (3) and (4). You have to find out 

which of the combinations correctly represents the group of digits based on the 

rules and mark the answer accordingly. If none of the combinations correctly 

represents the group of letters, mark (5) as your answer.

नदशानिदेश: िीचे नदए गए प्रत्येक प्रश्न में अंक के समूह को नदया जाता है नजसके बाद (1), (2), (3) 

और (4) में नदए गए अंकों / प्रतीकों के चार संयोजि होते हैं। आपको यह पता लगािा होगा नक कौि 

से संयोजि सही नियमों के आधार पर अंकों के समूह का प्रनतनिनधत्व करते हैं और तदि सार उत्तर 

को नचनित करते हैं। यनद संयोजिों में से कोई भी सही ढंग से अक्षरों के समूह का प्रनतनिनधत्व िहीं 

करता है, तो अपिे उत्तर के रूप में नवकल्प (5) को नचनित करें।



(i) If the first digit is odd and last is even, then interchange the codes for both digits.

(ii) If there is a digit which is getting repeated in the given number, then code that digit as the 

code of 5.

(iii) If the third digit is followed by an even number and is preceded by an odd number, then 

skip its code. 

(iv) If the middle digit is odd then interchange the codes of middle digit and last number. 

(v) 0 is neither odd nor even. 

(i) यनद पहला अंक नवषम और आनिरी अंक सम है, तो दोिों अंकों के कोड आपस में पवरवनत त करें।

(ii) यनद कोई अंक है जो नदए गए संख्या में दोहराया जा रहा है, तो उस कोड को 5 के कोड के रूप में अंनकत करें । 

(iii) यनद तीसरा अंक के त रंत बाद सम संख्या और त रंत पहले एक नवषम संख्या है, तो उसके कोड को छोड दें।

(iv) यनद मध्यम अंक नवषम संख्या है तो मध्यम अंक और अंनतम संख्या के कोडों को आपस में पवरवनत त करें।

(v) 0 ि ही नवषम ि सम संख्या है।

Note - FOLLOW THE  RULE FROM 1ST TO LAST ORDER .



Q. 53678 

(1) #©DH! (2) ©!DH# 

(3) !©DH# (4) !©HD# 

(5) None of these 

Number

Code

0 1 2 3 4 5 6 7 8 9

E @ L © O # D H ! F

(i) If the first digit is odd and last is even, then interchange the codes for both 

digits.

(ii) If there is a digit which is getting repeated in the given number, then code that 

digit as the code of 5.

(iii) If the third digit is followed by an even number and is preceded by an odd 

number, then skip its code. 

(iv) If the middle digit is odd then interchange the codes of middle digit and last 

number. 

(v) 0 is neither odd nor even. 



Q. 12375 

(1) @L©H# (2) @L#H© 

(3) @H#L© (4) @L!H© 

(5) None of these 

Number

Code

0 1 2 3 4 5 6 7 8 9

E @ L © O # D H ! F

(i) If the first digit is odd and last is even, then interchange the codes for both 

digits.

(ii) If there is a digit which is getting repeated in the given number, then code that 

digit as the code of 5.

(iii) If the third digit is followed by an even number and is preceded by an odd 

number, then skip its code. 

(iv) If the middle digit is odd then interchange the codes of middle digit and last 

number. 

(v) 0 is neither odd nor even. 



Road , Medrid ,BASANT ,jOY is written as 8#D , 10%D , 26$T , 28@Y

Jim, Right, Bull , Maa is written as 25#T, 4%A , 16$L ,16@M

Resume, Joshi, Bit, Manager is written as 11#E , 25%R , 23$T , 14@I

What is code for “MARKET” के नलए सभंानलत कोड क्या होगा? 

(1) 26%T 

(2) 26#T 

(3) 25%T 

(4) 26%M 

(5) 20%T



Road , Medrid ,BASANT ,jOY is written as 8#D , 10%D , 26$T , 28@Y

Jim, Right, Bull , Maa is written as 25#T, 4%A , 16$L ,16@M

Resume, Joshi, Bit, Manager is written as 11#E , 25%R , 23$T , 14@I

What is code for “BITTU” के नलए सभंानलत कोड क्या होगा? 

(1) 26%T 

(2) 26$U

(3) 25%U 

(4) 26%U 

(5) 20%T


